
1)
19  Find Volume of 
               18       Cylinder 

Answer: ____________

2) b

a o c
Measure angle boa 

Answer: ____________

3) 14 x 10

Answer: ____________

4) 22.3 - 53.7

Answer: ____________

5) 51.2 + 38

Answer: ____________

6) 67 + 89

Answer: ____________

7) Decrease 170 by 1/17

Answer: ____________

8) Solve by factorising 
x2 - 18x - 19 = 0

Answer: ____________

9) 93% of 45

Answer: ____________

10) 21/7 ÷ 16/7

Answer: ____________

11) Round 27.240 to the nearest whole 
number.

Answer: ____________

12) An amount was decreased by 9% to 
$352.00. Find the original amount.

Answer: ____________

13) Decrease 162 by 1/27

Answer: ____________

14) 96 - 90

Answer: ____________

15) Find the percentage change from 1 to 
18

Answer: ____________
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16)
64

8 /12

Answer: ____________

17) 28 x 99

Answer: ____________

18) 5/
8 ÷ 16

/1

Answer: ____________

19) Solve by factorising 
d2 - 12d + 20 = 0

Answer: ____________

20) 3 x 80

Answer: ____________

Total: ___ / 20
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Answers:

1) 4834.9110938747 2) 62 3) 140 4) -31.4 5) 89.2 6) 156 7) 160

8) x = 19 or -1 9) 41.85 10) 12/13 11) 27 12) $320.32 13) 156 14) 6

15) 1700% 16) 16 17) 2772 18) 5/128 19) d = 10 or 2 20) 240
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